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Москва 2019
I. Complete the sentences (1- 9) with the words (a-i):
a) invoices b) exports c) shares d) inflation e) cash f) contribution g) profit
h) scarcity i) goods.
1. The purpose of running a business is to make a profit.
2. The goods were delivered to the warehouse by lorry.
3. The capital of a limited company is divided into shares.
4. Individuals can deposit cash resources that are not needed at present.
5. Commercial invoices are issued after the goods are shipped.
6. The UK’s principal exports are vehicles, machinery and manufactured goods.
7. A (an) inflation is characterized by rising prices within a certain period of time.
8. Albert Einstein is famous for his contribution to science.
9. The great trouble is the scarcity of water and the intense heat.

Оформите ваши ответы в данной таблице:

	1
	2
	3
	4
	5
	6
	7
	8
	9

	g
	i
	c
	e
	a
	b
	d
	f
	h



II. Match (1-9) with (a-i) to make up sentences:
	1. Countries need to adopt international standards 
2. The company's internet offshoot 

3. Technological change has the potential 
4. The new economy will require 
5. Small business owners can handle their own accounting
6. Households are the family units that make up society. 
7. Henry Ford brought labor and capital together on an assembly line. 
8. Education benefits not only the individual but society as a whole. 
9. The influence of socialist ideas is evident today in the role of the governments.
	a) together on an assembly line. 

b) to transform the lives of people around the world. 
c) is already making enormous profits. 

d) in the role of the governments. 
e) that make up society.

f) the individual but society as a whole. 

g) a policy rethink on many levels. 

h) on fiscal and financial transparency. 

i) using packaged software.



Оформите ваши ответы в данной таблице:

	1
	2
	3
	4
	5
	6
	7
	8
	9

	h
	c
	b
	g
	i
	e
	a
	f
	d



III. Match each of the words on the left with an appropriate explanation on the right.
	1.crumbling
2. enviable
3. domestic
4. timid
5. handwritten
6. obliged
7. constant
8. willing
9. static
10. valuable
	a) written using your hand rather than printed by a machine
b) not foreign
c) shy and nervous; without much confidence
d) something that other people want
e) falling apart or collapsing
f) unchanging
g) has to
h) important or worth money
i) prepared to do
j) immobile, not moving



Оформите ваши ответы в данной таблице:

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	e
	d
	b
	c
	a
	g
	f
	i
	j
	h


IV. Complete the sentences (1-10) with the most suitable preposition (a-j): a) of
b) for c) in d) across e) with f) at g) from h) in i) on j)--.
1. I left work at ten o'clock last night.
2. I didn't get time to come and visit you -- last Tuesday.
3. He took the log book from the shelf and put it into his bag.
4. I saw something about it on television.
5. We are not interested in your problems.
6. Have you seen that advert for the post of manager?
7. He usually visits our head office in the spring.
8. The phone company can record the location of the phone.
9. Satellites can recognize objects only one meter across.
10. There is absolutely no way we can make a deal with him.

Оформите ваши ответы в данной таблице:

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	f
	j
	g
	i
	c
	b
	h
	a
	d
	e



V. КОПРы: Simple, Continuous (Progressive), Perfect. Complete the sentences (1-6) with the appropriate forms of the verbs (a-f): a) have benefited b) is preparing c) received d) work e) is f) has been.
1. Not many women work in video game industry.
2. Consumers have benefited greatly from advances in food production.
3. Carla is preparing the briefing.
4. The warehouse entrance is opposite the main car park.
5. Mr. Smith has been head of this department for six years.
6. We received your order yesterday.

Оформите ваши ответы в данной таблице:

	1
	2
	3
	4
	5
	6

	d
	a
	b
	e
	f
	c



VI. Make the adjectives or adverbs in the box comparative. Then complete the sentences.
	a) good – better 
b) little – less 
c) big – bigger 



1. China has a bigger domestic market than Italy.
2. With the data from econometrics, governments can make better decisions.
3. Cindy is less creative than John.

Оформите ваши ответы в данной таблице:

	1
	2
	3

	c
	a
	b



VII. Read and translate the text. Write down your translation of the second paragraph. 
The Role of Government in the Economy
1. In every economy the work of different firms has to be coordinated. In a market economy this coordination is achieved by means of markets. Nevertheless the debate over the role for Government in a market economy is continuing and the issue is being widely discussed at the present time. An economy based on free enterprise is generally characterised by private ownership and initiative, with a relative absence of government involvement. However, government intervention has been found necessary from time to time to ensure that economic opportunities are fair, to dampen inflation and to stimulate growth. 
2. Governments play a big role in American free enterprise system. Federal, state and local governments tax, regulate, and support business. In the United States there are agencies to regulate safety, health, environment, transport, communications, trade, labour relations, and finances. Regulation ensures that business serves the best interests of the people as a whole. 
3. Some industries- nuclear power, for instance – have been regulated more closely over the last few years than ever before. In others the trend has been towards deregulation or reduction of administrative burden on the economy. 
4. The U.S. economy has a tradition of government intervention for specific economic purposes- including controlling inflation, limiting monopoly, protecting the consumer, providing for the poor. The government also affects the economy by controlling the money supply and the use of credit. The aim is a balanced budget.

Translation of the second paragraph:
	2. Правительства играют большую роль в американской системе свободного предпринимательства. Федеральные и местные правительства, а также правительства штатов облагают налогами, регулируют и поддерживают бизнес. В США есть агентства, регулирующие безопасность, здравоохранение, окружающую среду, транспорт, средства связи, торговлю, трудовые отношения и финансы. Регулирование гарантирует, что бизнес будет служить интересам общества.

VIII. Answer the questions:
1. What is an economy based on free enterprise generally characterised by?
An economy based on free enterprise is generally characterised by private ownership and initiative, with a relative absence of government involvement.
2. What do federal and local governments do?
Federal and local governments tax, regulate, and support business.
3. In what way does the government affect the economy?
[bookmark: _GoBack]The government controls inflation, limits monopoly, protects the consumer, provides for the poor. It also affects the economy by controlling the money supply and the use of credit.
